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SSUUBBJJEECCTT  --  CCHHEEMMIISSTTRRYY 
Time : 3 :00 Hrs.  le; : 3 ?kaVs      Max. Marks (vf/kdre vad½: 720 

READ THE INSTRUCTIONS CAREFULLY (d`i;k bu funsZ'kksa dks /;ku ls i<sa) 

 
 

Important Instructions: egRoiw.kZ funsZ'k % 

1. The Answer Sheet is inside this Test Booklet. When you are 
directed to open the Test Booklet, take out the Answer Sheet 
and fill in the particulars on Side-1 and Side-2 carefully with 
blue/black ball point pen only. 

1. mÙkj i=k bl ijh{kk iqfLrdk ds vUnj j[kk gSA tc vkidks ijh{kk 

iqfLrdk [kksyus dks dgk tk,] rks mÙkj i=k fudky dj ì"B-1 ,oa 
ì"B-2 ij dsoy uhys@dkys ckWy ikWbaV isu ls fooj.k HkjsaA 

2. The test is of 3 hours duration and Test Booklet contains 180 
questions. Each question carries 4 marks. For each correct 
response, the candidate will get 4 marks. For each incorrect 
response, one mark will be deducted from the total scores. 
The maximum marks are 720. 

2. ijh{kk dh vof/k 3 ?kaVs gS ,oa ijh{kk iqfLrdk esa 180 iz'u gSaA 
izR;sd iz'u 4 vad dk gSA izR;sd lgh mÙkj ds fy, ijh{kkFkhZ dks 

4 vad fn, tk,axsA izR;sd xyr mÙkj ds fy, dqy ;ksx esa ls ,d 

vad ?kVk;k tk,xkA vf/kdre vad 720 gSaA 

3. Use Blue/Black Ball Point Pen only for writing particulars on 
this page/marking response. 

3. bl ì"B ij fooj.k vafdr djus ,ao mÙkj i=k ij fu'kku yxkus ds 

fy, dsoy uhys@dkys ckWy ikWbaV isu dk iz;ksx djsaA 
4. Rough work is to be done on the space provided for this 

purpose in the Test Booklet only. 4. jQ dk;Z bl ijh{kk iqfLrdk esa fu/kkZfjr LFkku ij gh djsaA 

5. On completion of the test, the candidate must handover 
the Answer Sheet to the invigilator in the Room/Hall. The 
candidates are allowed to take away this Test Booklet 
with them. 

5. ijh{kk lEiUu gksus ij] ijh{kkFkhZ d{k@gkWy NksMus ls iwoZ mÙkj i=k 

d{k fujh{kd dks vo'; lkSai nsaA ijh{kkFkhZ vius lkFk iz'u 

iqfLrdk dks ys tk ldrs gSaA 

6. The CODE for this Booklet is _____. Make sure that the CODE 
printed on Side-2 of the Answer Sheet is the same as that on this 
Booklet. In case of discrepancy, the candidate should 
immediately report the matter to the Invigilator for replacement of 
both the Test Booklets and the Answer Sheets. 

6. bl iqfLrdk dk ladsr gS _______. ;g lqfuf'pr dj ysa fd bl 

iqfLrdk dk ladsr] mÙkj i=k ds ì"B-2 in Nis ladsr ls feyrk 

gSA vxj ;g fHkUu gks] rks ijh{kkFkhZ nwljh ijh{kk iqfLrdk vkSsj 

mÙkj i=k ysus ds fy, fujh{kd dks rqjUr voxr djk,aA  

7. The Candidates should ensure that the Answer Sheet is not 
folded. Do not make any stray marks on the Answer Sheet. 
Do not write your roll no. anywhere else except in the 
specified space in the Test Booklet/Answer Sheet. 

7. ijh{kkFkhZ lqfuf'pr djsa fd bl mÙkj i=k dks eksM+k u tk, ,oa ml ij 

dksbZ vU; fu'kku u yxk,aA ijh{kkFkhZ viuk vuqØekad iz'u 

iqfLrdk@mÙkj i=k esa fu/kkZfjr LFkku ds vfrfjDr vU;=k u fy[ksaA 
8. Use of white fluid for correction is NOT permissible on the 

Answer Sheet. 
 

8. mÙkj i=k ij fdlh izdkj ds la'kks/ku gsrq OgkbV ¶+ywbM ds iz;ksx 

dh vuqefr ugha gSA 
 

In case of any ambiguity in translation of any question, English version shall be treated as final. 

iz'uksa ds vuqokn esa fdlh vLi"Vrk dh fLFkfr esa] vaxzsth laLdj.k dks gh vfUre ekuk tk;sxkA 
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CHEMISTRY 
136. The reason for greater range of oxidation states in actinoids is attributed to : 
 (1) The radioactive nature of actinoids   

(2) Actinoid contraction 
 (3) 5f, 6d and 7s levels having comparable energies  
 (4) 4f and 5d levels being close in energies  
Ans. (3) 
 
137. An example of a sigma bonded organometallic compound is  
 (1) Ruthenocene (2) Grignard's reagent  (3) Ferrocene (4) Cobaltocene 
Ans. (2) 
 
138. Which one is the wrong statement ? 

(1) de-Broglie's wavelength is given by  = 
m

h , where m = mass of the particle,  = group 

velocity of the particle.    

(2) The uncertainty principle is E × t   
4

h  

(3) Half filled and fully filled orbitals have greater stability due to greater exchange energy, 
greater symmetry and more balanced arrangement.  
(4) The energy of 2s orbital is less than the energy of 2p orbital in case of Hydrogen like atoms.  

Ans. (4) 
 
139. Mixture of chloroxylenol and terpineol acts as : 
 (1) Analgesic  (2) Antiseptic  (3) Antipyretic   (4) Antibiotic 
Ans. (2) 
 
140. The element Z = 114 has beeen discovered recently. It will belong to which of the following family/ 

group and electronic configuration ? 
 (1) Halogen family, [Rn] 5f146d107s27p5  (2) Carbon family, [Rn] 5f146d107s27p2 

 (3) Oxygen family, [Rn] 5f146d107s27p4  (4) Nitrogen family, [Rn] 5f146d107s27p6 
Ans. (2) 
 
141. A 20 litre container at 400 K contains CO2(g) at pressure 0.4 atm and an excess of SrO neglect the 

volume of solid SrO). The volume of the container is now decreased by moving the movable piston 
fitted in the container. The maximum volume of the container, when pressure of CO2 attains its 
maximum value, will be : 

 (Given that : SrCO3(s)  SrO(s) + CO2(g), Kp = 1.6 atm) 

 (1) 5 litre  (2) 10 litre  (3) 4 litre  (4) 2 litre  
Ans. (1) 
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142. Predict the correct intermediate and product in the following reaction :  

 )B()A(SOgH

SOH,OH
3

4

422 productermediateintCHCCH  
 

 (1) A :  H3C–C=CH2 

SO4 

 B :  H3C–C–CH3 

O 

  (2) A :  H3C–C=CH2 

OH 

 B :  CH3–C–CH2 

SO4 

  

 (3) A :  CH3–C–CH3 

O 

 B : H3C–CCH  (4) A :  H3C–C=CH2 

OH 

 B :  H3C–C–CH3 

O 

  

Ans. (4) 
143. Which of the following is a sink for CO ? 
 (1) Haemoglobin   (2) Micro organisms present in the soil. 

(3) Oceans    (4) Plants 
Ans. (1) 

 
144. Which of the following reactions is appropriate for converting acetamide to methanamine ? 
 (1) Carbylamine reaction  (2) Hoffmann hypobromamide reaction  
 (3) Stephens reaction   (4) Gabriels phthalimide synthesis 
Ans. (2) 
 
145. The species, having bond angles of 120º is : 
 (1) PH3    (2) CIF3   (3) NCl3   (4) BCl3 
Ans. (4) 
 
146. The correct of order the stoichiometries of AgCl formed when AgNO3 in excess is treated with the 

complexes CoCl3.6NH3, CoCl3. 5NH3, CoCl3. 4NH3 respectively is : 
 (1) 1 AgCl, 3AgCl, 2AgCl   (2) 3AgCl, 1 AgCl, 2AgCl 
 (3) 3AgCl, 2AgCl, 1 AgCl   (4) 2 AgCl, 3 AgCl, 1 AgCl 
Ans. (3) 
 
147. For a given reaction H = 35.5 kJ mol–1 and S = 83.6 JK–1 mol–1. The reaction is spontaneous at : 

(Assume that H and S do not vary with temperature) 
 (1) T < 425 K   (2) T > 425 K   (3) All temperatures  (4) T > 298 K  
Ans. (2) 
148. Match the interhalogen compounds of Column I with the geometry in column II and Assign the correct 

code.  
  Column I     Column II  
 (a) XX'    (i) T-shape 
 (b) XX3'    (ii) Pentagonal bipyramidal 
 (c) XX5'    (iii) Linear 
 (d) XX7'    (iv) Square-pyramidal 
      (v) Tetrahedral 
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 Code :  
  (a) (b) (c) (d)   (a) (b) (c) (d) 
 (1) (iii) (iv) (i) (ii)  (2) (iii) (i) (iv) (ii) 
 (3) (v) (iv) (iii) (ii)  (4) (iv) (iii) (ii) (i) 
Ans. (2) 
 
149. Identify A and predict the type of reaction : 

 

 OCH3 

Br 

A 
NaNH2 

 

 (1) 

 OCH3 

NH2  and substitution reaction (2) 

 OCH3 
NH2 

 and elimination addition reaction 

 (3) 

 OCH3 
Br 

and cine substitution reaction (4) 

 OCH3 

 and cine substitution reaction 
Ans. (2) 
 
150. Which one of the following statements is not correct? 
 (1) Catalyst does not initiate any reaction. 
 (2) The value of equilibrium constant is changed in the presence of a catalyst in the reaction at 

equilibrium. 
 (3) Enzymes catalyse mainly bio-chemical reactions 
 (4) Coenzymes increase the catalytic activity of enzyme. 
Ans. (2) 
 
151. Name the gas that can readily decolourise acidified KMnO4 solution: 
 (1) CO2   (2) SO2   (3) NO2   (4) P2O5 

Ans. (2) 
 
152. The correct increasing order of basic strength for the following compounds is : 

 

 NH2 NH2 

NO2 

NH2 

CH3 

(I) (II) (III)  
 (1) II < III < I  (2) III < I < II  (3) III < II < I  (4) II < I <III 
Ans. (4) 
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153. If molality of the dilute solution is doubled, the value of molal depression constant (Kf) will be : 
 (1) doubled  (2) halved  (3) tripled  (4) unchanged 
Ans. (4) 
 
154. Of the following, which is the product formed when cyclohexanone undergoes aldol condensation 

followed by heating? 

 (1) 

 O 

OH  (2) 

 

O  (3) 

 

OH  (4) 

 

O O  
Ans. (2) 
 
155. The equilibrium constants of the following are : 
 N2 + 3H2   2 NH3 K1 

 N2 + O2   2 NO K2 

 H2 + ½ O2   H2O K3 
 The equilibrium constant (K) of the reaction : 

 2NH3 + 5
2

O2 
 K 

 2NO + 3 H2O, will be : 

 (1) K1 3
3K /K2 

 (2) K2 3
3K /K1 

 (3) K2 K3 /K1 
 (4) 3

2K  K3/K1 
Ans. (2) 
 
156. The correct statement regarding electrohile is : 
 (1) Electrophile is a negatively charged species and can form a bond by acepting a pair of electrons 

from a nucleophile 
 (2) Electrophile is a negatively charged species and can form a bond by acepting a pair of electrons 

from another electrophile 
 (3) Electrophiles are generally neutral species and can form a bond by accepting a pair of electrons 

from a nucleophile 
 (4) Electrophile can be either neutral or positively charged species and can form a bond by accepting a 

pair of electrons from a nucleophile 
Ans. (4) 
 
157. A gas is allowed to expand in a well insulated container against a constant external pressure of 2.5 atm 

from an initial volume of 2.50 L to a final volume of 4.50 L. The change in internal energy U  of the gas 
in joules will be: 

 (1) 1136.25 J  (2) –500 J  (3) –505 J  (4) +505 J 
Ans. (3) 
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158. Which of the following pairs of compounds is isoelectronic and isostructural? 
 (1) BeCl2, XeF2  (2) TeI2, XeF2  (3) 2IBr , XeF2  (4) IF3, XeF2 

Ans. (3) 
 
159. Which of the incorrect statement? 
 (1) FeO0.98 has non stoichiometric metal deficiency defect. 
 (2) Density decreases in case of crystals with Schottky's defect. 
 (3) NaCl(s) is insulator, silicon is semiconductor, silver is conductor, quartz is piezo electric crystal. 
 (4) Frenkel defect is favoured in those ionic compounds in which sizes of cation and anions are almost 

equal. 
Ans. (1, 4) 
 
160. The heating of phenyl-methyl ethers with HI produces. 
 (1) ethyl chlorides (2) iodobenzene (3) phenol  (4) benzene 
Ans. (3) 
 
161. Correct increasing order for the wavelength of absorption in the visible region for the complexes of Co3+ 

is : 
 (1) [Co(en)3]3+, [Co(NH3)6]3+, [Co(H2O)6] 3+ (2) [Co(H2O)6]3+, [Co(en)3]3+, [Co(NH3)6]3+ 
 (3) [Co(H2O)6]3+, [Co(NH3)6]3+, [Co(en)3]3+ (4) [Co(NH3)6]3+, [Co(en)3] 3+, [Co(H2O)6]3+ 
Ans. (1) 
 
162. Pick out the correct statement with respect to [Mn(CN)6]3– : 
 (1) It is sp3d2 hybridised and octahedral  (2) It is sp3d2 hybridised an tetrahedral 
 (3) It is d2sp3 hybridised and octahedral  (4) It is dsp2 hybridised and square planar. 
Ans. (3) 
 
163. With respect to the conformers of ethane, which of the following statements is true? 
 (1) Bond angle remains same but bond length changes 
 (2) Bond angle changes but bond length remains same 
 (3) Both bond angle and bond length changes 
 (4) Both bond angles and bond length remains same 
Ans. (4) 
 
164. Which of the following is dependent on temperature ? 
 (1) Molality   (2) Molarity   (3) Mole fraction (4) Weight percentage  
Ans. (2) 

 
165. Which of the following statement is not correct ? 
 (1) Insulin maintains sugar level in the blood of a human body.   

(2) Ovalbumin is a simple food reserve in egg white   
(3) Blood proteins thrombin and fibrinogen are involved in blood clotting.  
(4) Denaturation makes the proteins more active. 

Ans. (4) 
 



  
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

    |  NEET-2017   |  07-05-2017  | Code - W 

RREESSOONNAANNCCEE  EEDDUUVVEENNTTUURREESS  LLTTDD..  
Pre Medical Division:- CG Tower-2, A-51(A), IPIA, Behind City Mall, Jhalawar Road, KOTA - 324005 (Rajasthan)  

CCOORRPPOORRAATTEE  OOFFFFIICCEE  ::  CCGG  TTOOWWEERR,,  AA--4466  &&  5522,,  IIPPIIAA,,  NNEEAARR  CCIITTYY  MMAALLLL,,  JJHHAALLAAWWAARR  RROOAADD,,  KKOOTTAA  ((RRAAJJ..))  --  332244000055  
RREEGG..  OOFFFFIICCEE  ::  JJ--22,,  JJAAWWAAHHAARR  NNAAGGAARR,,  MMAAIINN  RROOAADD,,  KKOOTTAA  ((RRAAJJ..))--332244000055    ||    PPHH..  NNOO..::  ++9911--774444--33119922222222  ||  FFAAXX  NNOO..  ::  ++9911--002222--3399116677222222  

PPHH..NNOO..  ::  ++9911--774444--33001122222222,,  66663355555555  ||  TTOO  KKNNOOWW  MMOORREE  ::    SSMMSS  RREESSOO  AATT  5566667777  
WEBSITE : WWW.RESONANCE.AC.IN | E-MAIL : CCOONNTTAACCTT@@RREESSOONNAANNCCEE..AACC..IINN | CCIINN  ::  UU8800330022RRJJ22000077PPLLCC002244002299 

 
TTHHIISS  SSOOLLUUTTIIOONN  WWAASS  DDOOWWNNLLOOAADD  FFRROOMM  RREESSOONNAANNCCEE  NNEEEETT--22001177  SSOOLLUUTTIIOONN  PPOORRTTAALL   PAGE # 6 

166. The IUPAC name of the compound is  
 O 

C H 

O 

 
 (1) 3–keto–2–methylhex–4–enal   (2) 5–formylhex–2–en–3–one 

(3) 5–methyl–4–oxohex–2–en–5–al  (4) 3–keto–2–methylhex–5–enal 
Ans. (1) 

 
167. HgCl2 and I2 both when dissolved in water containing I– ions the pair of species formed is : 
 (1) HgI2, I3

–  (2) HgI2, I
–  (3) HgI42–, I3

–  (4) Hg2I2, I
– 

Ans. (3) 
 

168. It is because of inability of ns2 electrons of the valence shell to participate in bonding that : 
 (1) Sn2+ is reducing while Pb4+ is oxidising   

(2) Sn2+ is oxidising while Pb4+ is reducing  
(3) Sn2+ and Pb2+ are both oxidising and reducing  
(4) Sn4+ is reducing while Pb4+ is oxidising  

Ans. (1) 
 
169. Mechanism of a hypothetical reaction X2 + Y2  2XY is given below :
 (i) X2  X + X (fast) 

(ii) X + Y2   XY (Slow) 
(iii) X+Y  XY (fast) 
The overall order of the reaction will be  

 (1) 1   (2) 2   (3) 0   (4) 1. 5 
Ans. (1,4) 

 
170. Concentration of the Ag+ ions in a saturated solution of Ag2C2O4 is 2.2×10–4 molL–1. Solubility product of 

Ag2C2O4 is : 
 (1) 2.42 × 10–8  (2) 2.66 × 10–12  (3) 4.5 × 10–11  (4) 5.3 × 10–12 

Ans. (4) 
 

171. Extraction of gold and silver involves leaching with CN– ion. Silver is later recovered by : 
 (1) liquation   (2) distillation   (3) zone refining  (4) displacement with Zn 
Ans. (4) 

 
172. Which one is the correct order of acidity ? 
 (1) CH2=CH2 > CH3–CH=CH2 > CH3–CCH > CHCH   

(2) CHCH > CH3–CCH > CH2=CH2 > CH3–CH3

(3) CHCH > CH2=CH2 > CH3–CCH > CH3–CH3

(4) CH3–CH3 > CH2=CH2 > CH3–CCH > CHCH
Ans. (2) 
 
173. Ionic mobility of which of the following alkali metal ions is lowest when aqueous solution of their salts 

are put under an electric field ? 
 (1) Na   (2) K   (3) Rb    (4) Li 
Ans. (4) 
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174. Consider the reaction  

 

 [Ag(NH3)2]+ 

–OH 
–OH 

A 

Y 

Silver mirror observed  X
(C2H6O) 

Cu 

573 K 

Z 

NH2–NH–C–NH2 

O 

 
 Identify A, X, Y and Z  

(1) A–Methoxymethane, X–Ethanoic acid, Y–Acetate ion, Z–hydrazine.    
(2) A–Methoxymethane, X–Ethanol, Y–Ethanoic acid, Z–Semicarbazide. 
(3) A–Ethanal, X–Acetaldehyde, Y–But–2–enal, Z-Semicarbazone. 
(4) A–Ethanol, X-Acetaldehyde, Y-Butanone, Z-Hydrazone. 

Ans. (3) 
 
175. In which pair of ions both the species contain S–S bond  
 (1) S2O7

2– , S2O3
2– (2) S4O6

2– , S2O3
2– (3) S2O7

2– , S2O8
2– (4) S4O6

2– , S2O7
2– 

Ans. (2) 
 

176. Which one is the most acidic compound ? 

 (1) 

 OH

CH3 

  (2)  
OH 

  

(3)

 

 OH

NO2  

(4)

 

 OH

NO2

NO2O2N

 
Ans. (4) 

 
177. In the electrochemical cell : 

Zn l ZnSO4 (0.01 M ) ll CuSO4 (1.0 M) Cu, the emf of this Daniel cell is E1 . When the concentration of 
ZnSO4 is changed to 1.0 M and that of CuSO4 changed to 0.01 M , the emf changes to E2

. From the 

followings which one is the relationship between E1 and E2 ? (Given , = RT
F

0.059 

 (1) E1 = E2  (2) E1 < E2   (3) E1 > E2  (4) E2 = 0  E1 
Ans. (3) 

 
178. A first order reaction has a specific reaction rate of 10–2. How much time will it take for 20 g of the 

reaction to reduce to 5 g ? 
 (1) 238.6 sec   (2) 138.6 sec   (3) 346.5 sec  (4) 693.0 sec 
Ans. (2) 

 
179. The most suitable method of separation of 1:1 mixture of ortho and para-nitrophenols is : 
 (1) Sublimation      (2) Chromatography  

(3) Crystallisation    (4) Steam distillation  
Ans. (4) 
 
180. Which one of the following pairs of species have the same bond order ? 
 (1) CO, NO  (2) O2 , NO+  (3) CN– , CO   (4) N2, O2

– 

Ans. (3) 
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